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QUESTION 1

It has been suggested that five clerical posts can be abolished when a new computer system is implemented. Under
which category of costs or benefits will this be recorded?

A. Tangible costs.

B. Tangible benefits.
C. Intangible costs.
D. Intangible benefits.

Correct Answer: B

QUESTION 2

In a particular organisation it is common practice to call all managers by their first name. It is part of the culture of the
organisation. Newcomers are quickly corrected if they do not follow this informal approach. What would knowing about
this convention be classified as in Requirements Engineering?

A. Explicit individual knowledge.

B. Tacit individual knowledge.

C. Explicit corporate knowledge.

D. Tacit corporate knowledge.

Correct Answer: D

QUESTION 3

An analyst investigating a finance system wishes to build rapport with individual stakeholders and investigate in detail
each stakeholder\\'s views. Which of the following techniques should the analyst use?

A. Questionnaires.

B. Interviewing.

C. Special purpose records.
D. Document analysis.

Correct Answer: B

QUESTION 4

A business analyst has identified that one of the use cases on a use case diagram contains a large amount of optional
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processing. This optional processing is so large that he has decided to remove it to a separate use case which can be
called by the original use case if required. How should the original use case be linked to the new use case?

A. By a broken, arrowed line stereotyped with the word .
B. By a broken, arrowed line stereotyped with the word .
C. By a solid line with no arrowhead or stereotype.

D. By a broken, arrowed line stereotyped with the word .

Correct Answer: D

QUESTION 5

Description, impact assessment, probability and countermeasures are usually recorded for which of the following?
A. Requirements.

B. Risks.

C. Stakeholdei-s.

D. Key Performance Indicators.

Correct Answer: B
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